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’ §5.  Ratio of volumes of cylinder and conc whose radii are equal and having same height 1s
PART - II ;
Defren EDAS JrHS0, FoWHO 85055769500 JJyE
MATHEMATICS 2.8 :uaafgm, ) e% . N
. oy . . 2 1y 1:3 o , (312
S1. Angle of a sector is 60° and radius is 14 cm, then its area is cm-. ‘
' : : 4 2:1
2.8 (Sesodssn BwE), £%00 60° 50O ;J°§$vg;’m 14 20.20. @RS T°d ST ¢ @) 3]
.20.2. + 56. tan 0 is not defined when ‘0’ is
(4 k000 (2) 10267 ‘9" ABNE), _ DenSH tan 6 AEROTAED.
(3) 111.6 _ (4) 98.66
| () 0° (2) 30°
52. Value of cos2 0° + cos2 60° is - (3) 60° 4) 90°

cos? 0° + cos? 60° BE) IS =

| 3 |
(D ?i' (2) 'j—j 57. Ifsec ®=3K and tan 6 =1 then K? e
| f 3 e ]
(3) \/—‘]_‘ (4) 23 [ sec B = 3K 0043w tan9=Eeac:~JoRﬁ K-‘Ej=
2 - .
: . l
(1 9 : @ 3
53. Ifadiceis rolled, then the probability of getting an even number is |
' 1
2.8 FDED TR0V SDD0Y S50 H0gTsgds = - ~ 3 3 @ 3
1 = ] {
(1) 6 (2) 3 ;r
¢ l o 5
| 2 ; 58. Iftan 6 =—=. then 7 sin“0 + 3 cos-0 =
3) 3 4) 3 N3 _
;
tan @ = ‘\}‘—3' 900985 7 sin20 + 3 cos’0 =
54. In asquare, the diagonal is times of its side ' |
2. & SEDERS0S, EE50 e eher0d Gé. .} | t (1) % (2) 2
() 7 @ 3 3 | 3) -3- 4) |
(3) 2 . (4) 2 - | . |
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59, :;mm] the 50 cards numbered from 1 to 50, a card is drawn at random, then the probability 63. In aright circular cone, \[(I tn(-r=
l.[ t . . s \
1at the number on the card is divisible by 8 is (1) stant height (2)  vertical height
| oc 50 35% LIJ‘O:i)SJ(.‘.Q)RﬁQ 50 ?@eés 00G A& ySore a5 5P D&‘).)Q'sboéj (3) radius of the base (4) diameter of the base
2 v % +r)(l-r)=
o°0D 8 3 é’J@ga.on“ Aot Sogs S JogTses = -_ 2.8 (53 $yFs°0 FogH& V(1 + 0 (1-1)
1 ) | - (1) Hessren K (2) dewd 8K
LT 2 33 |
oy L . ; (3) g Tegrgo (4) g a0
20 @) 33 !
% 64. Volumeofacubeis S|2 cm?, then its edge is
60.  Median of the data 6, 10, 20, x, 12, 14 is 12, then x = (1) 8cm (2) 6cm
4) 18
6.10,20,x, 12, 14 © SSHSS0 12, 90w v = | (3) 14cm ) lsem
i 2.5 J050850 AB0E), 0P33035°e90 512 $0.20.50. ©0NS T°Y) WO &Y =
(1) 6 (2) 10 -
'l b
(3) 4 4) 14 ] (1) 80.. (2) 620.2.
'
| 3) 1420.%. 4) 18 20.%.
61. If AABC ~ ADEF, BC =4 ¢cm, EF = 5 cm and AABC = 80 ¢m2. then ADEF = il
AABC ~ ADEF, BC =4 20.20., EF = 5§ 20.%., 58050 AABC = 80 $5.20.2D., 9003 65. T.S.A of a solid hemisphere whose radius isx cm is 147 & cm?2. Then *x° is
ADEF=__ 5. 20.2. _ ¥ 202, TS Ko 09 egfivo @Y, Sorgse JTosn 147 1 $.20.D.
() & 2) 125 | | e0mS ‘v =
3) 144 4) 169 (H 21 (2) 15
3) 8 4) 7
62. Perimeter of a sector is units.
66. If cosec 8 =2 and cot 8 =+/3p where ‘0’ is an acute angle, then p =
.5 L@Eﬂ"ﬁOéGO (:B.Jjgz’{pe_a €)% w‘?\)&%ﬁ)_ \ ‘\’-P
cosec § = 2 308A%w cot 6 =1[3p, ‘0" &.8 wyE’ew oS p =
Ir X" )
(3 (2) 3600 % T (1 2 2) 1
|
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67.

68.

69.

70.

71.

T e it o B

It cos 20 = sin 46, here 26, 46 are acute angles, then the value of ‘0" =

cos 20 = sin 46, 20 OAN 40 e ©H» Seen 900 @’ IS =

(1) 60° (2) 30°
(3) 45° (4) 15°
The mean of first five prime numbers is
033 2D (SEES DoP;o JHew =
( 4 (2) 46
3) 5.6 4 5
The value of log -64 is
ﬁ o —
log —64 ANE) Jewd =
\2 b
(1) -6 2) 12
3) 6 (4) 8
If 5 is a root of x2 — (K - 1) x+ 10 =0, then the value of K is |
VM-(K=Dx+10=0 A0, &8 Sorosm 5 eons K B0%) Dew:s
() -8 (2) 7
(3) 8 4) 12
Sum of the roots of x2 = 16 = 0 is

x? = 16 = 0 Q0T S ore Ingsw =

M T 2 1
3) 0 4) 16
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72. If A= !x/xeNand | <x<6j, thenn(A)=
A = {x/xe N 0005 1 <¥ < 6] @0 n(A) =
() 6 (2) 5
(3) 4 | 4 2
73. IfAcB and Bc D, then
A c B 58050 B c D @003
(1) A=B (2) AcD
(3) B=D (4) DcA
74. The degree of a quadratic equation is
3¢ [EEEaSD B0E), J05eeH0 =
(H 1 2) O
3) 2 4) 3
75. Lngaﬁthmic form nf{lﬁ =21s
{8 = 2 B, DoSEATS ErDo
| 1
(1) 10g32='§ (2) log,8=3
3) log, 8=2 (4) log,2=0
3 3
76. The discriminant of the equation pv+qv+r=0is
px? + qv + r =0 B Dsged =
(1) q>+4pr 2) q*-4pr
(3) pi-4qr (4) rP-4pq
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77.  The equation x? +x+ 1 = 0 has "- 81. To find out the slant height of a cone, we use theorem.
(1) real equal roots (2) no real roots ' (1) Thales (2) S.AS
(3) real and unequal roots (4) All of the above - (3) Pythagoras (4) S.S.S
¥ x4 | =0 505650 G Sararey FognP DeyTren & HHFSeE’ DETOSEN SBATATID.
(1) J5rS RS Sogsen (2) TS Hoyed Y (1) 3 (2) 20.5.4D

78.  The symbol for an empty set is 82. Values of sin 30°, sin 90°, sec 60° are in

'5?555 :'szaé m@ sin 30°. sin 00°, sec 60°® JEVIV 65 gﬂ;i).
(n 2 o () AP 2) G.P
(3) ¢ (4) (1)or(2) ' (3) H.P 4 (Dor(3)

79. If AN B=¢, then the sets A, B are 83. Which of the following formulae is associated to cylinder ?

(1) ual sets 2
equal (2) subsets 208 JrEros’ Jrardd SowoHoDN MBS0
(3) disjoint sets (4) equivalent sets
ANB=¢e®ans A, B 30eHen (1) fi;'“"zh 2 T
3 4
(1) S5 5DoHen (2) &3 BMHew 3) %mr‘ (4) 3o
(3) AN SdohHew 4 S
(4) So;Sdhen 84. Thelinex=-3is
(1) parallel to x-axis (2)  parallel to y-axis
80. The zeroes of the polynomial (shown in the graph) are (3) passes through origin (4)  passes through (0, - J)
808 H3) (rHE’ IrdS 2ITVSE T x=-3e% 39
AT

(1) 1858 JSroSEonT &0t

J \ (2) y-05208 SXroSToT SOt
2.0y O (2.0) 4

¥ (3) S[ore HoHY HOGE FYD
(M 2,0 @ 0,2 -
3) -2,2 4) 0.0 ‘ @)  (0,-3) Dot 1HoG® FHD.
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85. The point (-5, - 8) lies in quadrant.
(-5. - 8) Do) FEINS SO,
(1y 1 2) 11
(3) 1l 4) v
86. Ifta b, carein G.P,thenb=
a,b,ceo G.P 582'.3);3&55 b=
(1) ac (2) L : =
a+bh+c
(3) 3 4) +ac
87. The next term of the A.P (a+3d), (a+d). (a=d), .... Is
(a+3d). (a+d). (a-d). ... &3 AP & Soo8 3550
(1) a+2d (2) a-2d
(3) a-4d (4) a-3d
88. The number of cubes of edge 2 cm which can be cut out from a cube of edge 6 cm is
6 20.a0. 0D EDAS [0S0 o0& 2 20.5. eoHre Ay JPI5B5WS EoH
515.‘)3333 ?
(1) 9 @ 18
3) 27 4) 3
89. "Which term of the A.P - 18, - 16, - 14, .... is first positive term ?
—18,-16,- 14, ... 0% AP & iy 5¢5:50 3003e3 &5 S35 2
(1) ¢t Q) Lo
(3) T 4) t,
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90. A solid iron cuboid of dimensions 49 cm X 33 cm X 24 cm is melted to form a solid

sphere, then its radius is
(1) 21lcm

(3) 24cm

(2) 13cm
(4) 18cm

49 220.20. X 33 20.20. X 24 20.b. Soden LIRS 2.8 &3 B ) KA Ko

370y T°0 vﬁa‘gm
(1) 21»0.%
(3) 24220.%

91. The solution of the equations \ﬁ:r— \ﬁy =0and \ﬁx 3 \ﬁy =0is

‘\/3.1'-'\ﬁy=0;535din '\ﬁ.r+\/§y=
(1) x=3,y=7
3) x=0,y=1

92. If16,x,36arein G.P, thenx=
16, x, 36 & G.P &° DT ¥ dews

(1) 24
(3) 28

(2) 1320.%

(4) 18 0.2

0 cﬂngb v la by

(2) x=8,y=3
@4) x=0,y=0

(2) 26
(4 30

3

LD .
93. If y=3, then the value of ‘x” satisfying the equation T Ey=ois

5 3 ,
y=3@0§3§3;+;=63§3éﬂ)§5&3.
(nH 3

-
3) 73

y

v R0
]
(2) 3
4 1
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94. The value of tan 6 in terms of sin 0 is 97. Probability of impossible event is

: () 0 (2) 1 1
tan 6 Bo&) Dews sin § ©F° |
(3) 1.0o0r0.5 4) 0.5 1
|
l slsi) S \Jsin2 0 - | BRNO0FD LI ABNE), DO = i
) S sin?e & sin O :
| (1) 0 (2) |1 |
sind ‘ \/1 -sin2 @
3 : .
(3) N @ oo 3) 1.08c0.5 (4) 0.5
I
S L i
95. Distance between the points 98. In AABC, DE || BC and 5g =3+ AC = 5.6, then AE =
A (log,,1000, tan 45°), B (cosec 30°, log,343) is (1) 1.8cm (2) 35cm 4
(3) 1.2cm (4) 2.1cm !
(1) \II_B units (2) '\/ﬁ} units AD 3 B
AABC &° DE || BC 2Ba® pp =75 AC = 5.6 ©a0S AE =
(3) 34 units (4) \fg units * S
= 2 &
A (log,,1000, tan 45°), B (cosec 30°, log,343) HOHHO S5 ErESm (1) 1.820.2. (2) 3.5 %0.. :
! 3) 1.2 20.2. (4) 2.1 20.50.
(1) /13 cordey 2) 10 asordey
(3) /34 asordey (4) [5 asrdey 99. AABC ~ APQR, ZA = 50°then ZQ + <R =

AABC ~ APQR, ZA =50°, &0 ZQ+ ZR =

96. Mid values are used to find (1 120° (2) 110°
3) 130° - °

(1) mean (2) median (3) (4) 80

(3) mode | (4) range 100. Area of regular hexagon of side *a’ units is $q. units.

A D0 0655 DB SSBIARD. ‘2’ GRPEY ghessn Sodm Ko (B3N 305w 5. 05,

(1) ®re» (2)  GNS3 (1) %ﬁu (2) %Eal

3 5

(3) erTOVESD (4) ;jb,sg (3) %C Y- (4) %[ a2
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